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QUESTION 1

The Service Loose Coupling principle is concerned with the relationship between the service contract and service
consumers but also with the relationship between the service contract and whatever the service encapsulates. Select
the correct answer. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 2

Which service-orientation principle influences the content published about services and further helps avoid the
misinterpretation of service contracts? Select the correct answer. 

A. Service Statelessness 

B. Service Discoverability 

C. Service Autonomy 

D. None of the above. 

Correct Answer: B 

 

QUESTION 3

A service contract publishes information that makes guarantees about how the service will behave at runtime and when
it will be available. These types of guarantees are associated with which service meta information type? Select the
correct answer. 

A. technology 

B. programmatic 

C. functional 

D. quality of service 

Correct Answer: D 

 

QUESTION 4

A service-oriented solution can be comprised of which of the following core architectural elements? Select the correct
answer. 

A. messages 
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B. services 

C. contracts 

D. All of the above. 

Correct Answer: B 

 

QUESTION 5

As a first step toward replacing a corporate customer database, a company attempts to limit access to customer
services via an official Customer entity service. However, some time later it is discovered that several applications have
been bypassing the Customer service in order to directly access the customer database. As a result, these applications
exhibit which negative form of coupling? Select the correct answer. 

A. Contract-to-Implementation 

B. Consumer-to-Implementation 

C. Consumer-to-Contract 

D. Contract-to-Technology 

Correct Answer: B 
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